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SSC Junior Engineers

(Papers) SSC Junior Engineer Exam Paper - 2018 "held
on 22 Jan 2018" Afternoon Shift (General Awareness)

QID : 651 - Income and Expenditure Account is
Options:

1) Property account

2) Personal Account

3) Nominal Account

4) Capital Account

Correct Answer: Nominal Account

QID : 652 - Commodity or product differentiation is found in which market?
Options:

1) Perfect Competition Market

2) Monopoly Market

3) Imperfect Competition Market

4) No option is correct

Correct Answer: Imperfect Competition Market

QID : 653 - The economist who for the first time scientifically determined National
Income in India is

Options:

1) Jagdish Bhagwati

2) V.K.R.V. Rao
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3) Kaushik Basu
4) Manmohan Singh
Correct Answer: V.K.R.V. Rao

QID : 654 - Which of the following is not a part of the non-plan expenditure of central
government?

Options:

1) Interest payment

2) Grants to states

3) Electrification

4) Subsidy

Correct Answer: Electrification

QID : 655 - The percentage of decadal growth of population of India during 2001-2011
as per census 2011 is
Options:
1) 15.89
2) 17.64
3)19.21
4) 21.54
Correct Answer: 17.64

QID : 656 - The concept of Constitution first originated in which of the following
countries?

Options:

1) Italy

2) China

3) Britain

4) France

Correct Answer: Britain

QID : 657 - The Parliament has been given power to make laws regarding citizenship
under which article of the Constitution of India?

Options:

1) Article 5

2) Article 7

3) Article 9
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4) Article 11
Correct Answer: Article 11

QID : 658 - Which one of the following cannot be the ground for proclamation of
Emergency under the Constitution of India?

Options:

1) War

2) Armed rebellion

3) External aggression

4) Internal disturbance

Correct Answer: Internal disturbance

QID : 659 - The 100th amendment in Indian Constitution provides
Options:

1) Protection of livelihood and regulation of street vending

2) Acquiring of territories by India and transfer of certain territories to Bangladesh

3) Emoluments, Allowances and Privileges to the Governors

4) Reorganisation of state of Andhra Pradesh

Correct Answer: Acquiring of territories by India and transfer of certain territories to
Bangladesh

QID : 660 - Which one of the following is not a constitutional body?
Options:

1) The Election Commission of India

2) The Finance Commission

3) The Official Language Commission

4) The National Commission for Women

Correct Answer: The National Commission for Women

QID : 661 - Which Buddhist scripture describes about 16 Mahajanapadas?
Options:

1) Digha Nikaya

2) Sutta Pitaka

3) Anguttara Nikaya

4) Vinaya Pitaka

Correct Answer: Anguttara Nikaya
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QID : 662 - The Chinese Pilgrim who visited India in the early 6th century was

Options:

1) Hiuen Tsang

2) Fa-hien

3) Sung Yun

4) I-tsing

Correct Answer: Sung Yun

QID : 663 - Which one of the following was the capital of the sultanate during the reign
of lltutmish?

Options:

1) Agra

2) Lahore

3) Badaun

4) Delhi

Correct Answer: Delhi

QID : 664 - The ideas of non-cooperation movement during freedom struggle did not
envisage on

Options:

1) the bycott of civil services

2) the bycott of foreign goods

3) Common riots (violence)

4) the surrender of British titles

Correct Answer: Common riots (violence)

QID : 665 - Who among the following participated in the Salt Satyagraha of Gandhiji?
Options:

1) Sarojini Naidu

2) Rajkumari Amrit Kaur

3) Kamladevi Chattopadhyaya

4) All options are correct.

Correct Answer: All options are correct.

QID : 666 - Which among the followings is not the result of underground water action?
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Options:

1) Fiords

2) Sink holes

3) Stalactite

4) Stalagmite

Correct Answer: Fiords

QID : 667 - In which of the following countries the Great Victorian Desert is located?
Options:

1) South Africa

2) South America

3) Australia

4) China

Correct Answer: Australia

QID : 668 - Which of the following is a typical feature of river erosion in youthful stage?
Options:

1) Gorge

2) Cut-bank

3) Ox-bow lake

4) Natural Levee

Correct Answer: Gorge

QID : 669 - Which of the following Indian state does not share boundary with Myanmar?
Options:

1) Assam

2) Manipur

3) Nagaland

4) Arunachal Pradesh

Correct Answer: Assam

QID : 670 - Bhavanisagar Dam or Lower Bhavani Dam, is located in which state?
Options:

1) Tripura

2) Bihar

3) Tamil Nadu

4) Telangana
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Correct Answer: Tamil Nadu

QID : 671 - Which of the following is a scheme of Government of India for providing
online connection of LPG?

Options:

1) SAHAJ

2) SARAL

3) BHIM

4) DIGI DHAN

Correct Answer: SAHAJ

QID : 672 - Which one of the following schemes is aimed at all-round development of
adolescent girls in the age group of 11-18 years and making them self-reliant?
Options:

1) RGSEAG

2) IGMSY

3) NMEW

4) RMK

Correct Answer: RGSEAG

QID : 673 - Bharatnet Project is related to which of the following?
Options:

1) free wifi to students in rural area

2) High speed internet to farmers

3) Broadband connectivity to gram panchayats

4) A project connecting rural area with urban area

Correct Answer: Broadband connectivity to gram panchayats
Candidate Answer: High speed internet to farmers

QID : 674 - Which of the following countries will host the Commonwealth Games in
20187

Options:

1) Sri Lanka

2) Indonesia

3) Australia

4) Britain
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Correct Answer: Australia

QID : 675 - In December 2017, who won the World Rapid Chess Championship Title
2017 held in Riyadh, Saudi Arabia?

Options:

1) Magnus Carlsen

2) Viswanathan Anand

3) Vladimir Fedoseev

4) lan Nepomniachtchi

Correct Answer: Viswanathan Anand

QID : 676 - "Gandhi in Champaran" is written by
Options:

1) Arundhati Roy

2) Fatima Bhutto

3) Dinanath Gopal Tendulkar

4) Harper Lee

Correct Answer: Dinanath Gopal Tendulkar

QID : 677 - Who among the following has received Arjuna Award in August 20177
Options:

1) Harmanpreet Kaur

2) Sardar Singh

3) Bhupender Singh

4) P. A. Raphel

Correct Answer: Harmanpreet Kaur

QID : 678 - Which of the following is the 14th Intangible Cultural Heritage from India to
be listed in UNESCO's list of Intangible Cultural Heritage of Humanity?

Options:

1) Ramlila

2) Mudiyett

3) Kumbh Mela

4) Sankirtana

Correct Answer: Kumbh Mela
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QID: 679 - 00000I0O00 DUO0OD D0U00O0O00O U0 000000 00000 0o
0000000000 000 00 000 000 00 000000 00000000 0o 0ooo oo 5
000000 00 000 0000-00000 U0000 Doooo go?

Options:

1) Japan

2) China

3) United States of America

4) Russia

Correct Answer: China

QID : 680 - Which neighbouring country of India celebrates its Independence Day on
March 26?

Options:

1) Bangladesh

2) Pakistan

3) Nepal

4) Sri Lanka

Correct Answer: Bangladesh

QID : 681 - Which of the following is NOT an operating system?
Options:

1) Unix

2) Ubuntu

3) MS-DOS

4) MS-Excel

Correct Answer: MS-Excel

QID : 682 - Instructions to computer are given through
Options:

1) Input unit

2) ALU

3) Printer

4) Pen drive

Correct Answer: Input unit

QID : 683 - Which of the following is slaked lime?



www.makemyexam.in - Powered by IBT

Options:
1) Ca(OH)2

2) CaO
3) CaCO3

4) CaCl2
Correct Answer: Ca(OH)2

QID : 684 - Among the following respiration is which type of process?
Options:

1) Exothermic process only

2) Endothermic process only

3) Both exothermic and endothermic

4) Neither exothermic nor endothermic

Correct Answer: Exothermic process only

QID : 685 - In Modern Periodic Table, while moving left to right across a period, the
metallic character

Options:

1) increases

2) decreases

3) remain same

4) first increases then decreases

Correct Answer: decreases

QID : 686 - How many moles are present in 36 gm of water?
Options:

1)1

2) 2

3)4

4)8

Correct Answer: 2

QID : 687 - In which mirror, image formed is virtual, errect and point sized?
Options:

1) Plane

2) Convex
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3) Concave
4) No option is correct.
Correct Answer: Convex

QID : 688 - Which of the following affects the resistance of the wire?
Options:

1) Resistivity

2) Length of wire

3) Area of cross section of wire

4) All options are correct

Correct Answer: All options are correct

QID : 689 - Which of the following statements are CORRECT?

|. Force applied on the conductor depends on magnitude of current.

Il. Force applied on the conductor depends on magnitude of magnetic field strength.
lll. Force applied on the conductor depends on the direction of current.

Options:

1) Only I and I

2) Only I and IlI

3) Only Il and IlI

4) All are correct.

Correct Answer: Only | and Il

QID : 690 - The direction of heat flow between two body depends on which of the
following?

Options:

1) Their specific heat

2) Their latent heat

3) Their temperatures

4) Their area of contact

Correct Answer: Their temperatures

QID : 691 - Which disease is caused by deficiency of Vitamin A?
Options:

1) Beri-Beri

2) Night blindness

3) Rickets
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4) Pellagra
Correct Answer: Night blindness

QID : 692 - Air enters the body of cockroaches through
Options:

1) lungs

2) gills

3) spiracles

4) skin

Correct Answer: spiracles

QID : 693 - Which of the following carry the blood from all parts of body back to the
heart?

Options:

1) Arteries

2) Veins

3) White Blood Cells

4) Platelets

Correct Answer: Veins

QID : 694 - Which of the following is an example of unicellular organism?
l. Euglena

Il. Amoeba

[ll. Paramecium

Options:

1) Only I and I

2) Only | and IlI

3) Only Il and llI

4) All option are correct

Correct Answer: All option are correct

QID : 695 - Which of the following controls the size of pupil in human eye?
Options:

1) Cornea

2) Iris

3) Aqueous humour

4) Retina
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Correct Answer: Iris

QID : 696 - Which of the following disease is generally caused by viruses?
Options:

1) Dengue fever

2) Typhoid

3) Cholera

4) Tuberculosis

Correct Answer: Dengue fever

QID : 697 - Which of the following diseases are NOT caused by smog?
Options:

1) Rickets

2) Throat cancer

3) Skin cancer

4) Breathing problem

Correct Answer: Rickets

QID : 698 - Which of the following gas is the second most abundant gas by volume in
atmosphere?

Options:

1) Nitrogen

2) Ozone

3) Oxygen

4) Carbon dioxide

Correct Answer: Oxygen

QID : 699 - With respect to humans, why is carbon monoxide a pollutant?
Options:

1) It reacts with nitrogen dioxide

2) It reacts with sulphur dioxide

3) It reacts with haemoglobin

4) It makes nervous system inactive

Correct Answer: It reacts with haemoglobin

QID : 700 - Oil spills is seen in which ecosystem?
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Options:

1) Desert ecosystem

2) Grassland ecosystem
3) Forest ecosystem

4) Marine ecosystem
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